Python EDNA Tips Workout #5
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In [60]: # 5. Present the relationship between days and total bill value
sns.violinplot(x=datai[ 'day’], y=datai[ total_bill'], data=data1)

plt.xlabel('Day’)
plt.ylabel('Total Bill')
plt.title('Relationship between Day and Total Bill')

plt. show()
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In [74]: # 6. Create a scatter plot with the day as the y-axis and tip as the x-axis, differ the dots by sex
plt.scatter(datal[ ‘tip'], datal['day'], c=datall'size'])

plt.xlabel('Total Bill')
plt.ylabel('Tip')

plt.title('Relationship between Total Bill, Tip and Size')
plt. show()

Relationship between Total Bill, Tip and Size )

Fri * ®@®ee o L

Thur CIBEDONOES ¢ 00 o o L]

Tip

Sat DO GRS ©0 ¢ ¢ o oo L] L] L]

sun SOOI ERENG e 00 o

2 4 6 8 10
Total Bill





image7.png
In [78]: # 7. Create a box plot presenting the total_bill per day differentiation the time (Dinner or Lunch)
sns.boxplot(x=datal[ ‘day'], y='total bill', hue='time', data=datal)

plt.xlabel('Day’)
plt.ylabel('Total Bill')
plt.title('Total Bill by Day and Time')

plt.show()
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In [88]: # 8. Create two histograms of the tip value based for Dinner and Lunch. They must be side by side.
# create a figure with two subplots side by side (1x2)
fig, (axi, ax2) = plt.subplots(1, 2, figsize=(10, 5))

# Histogram of tips for Lunch

ax1.hist(datal[datal['time'] == ‘Lunch']['tip'], bins=10, color = ‘red')
ax1.set_xlabel('Tip')

ax1.set_ylabel (' Frequency')

axi.set_title('Tip Distribution for Lunch')

# Histogram of tips for dinner

ax2.hist(datal[datal[ time'] == ‘Dinner']['tip'], bins=10)
ax2.set_xlabel('Tip')

ax2.set_ylabel (' Frequency')

ax2.set_title('Tip Distribution for Dinner')

# display the plot
plt. show()
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In [86]: # 9. Create two scatterplots graphs, one for Male and another for Female, presenting the total_bill value and tip relationship, ¢
import matplotlib.pyplot as plt

# create a figure with two subplots side by side (1x2)
fig, (axi, ax2) = plt.subplots(l, 2, figsize=(10, 5))

# create scatterplots for male and female customers who are smokers

ax1.scatter(datal[(datal['sex'] == 'Male') & (datal['smoker'] == 'Yes')]['total bill'],
datal[(datal['sex'] == ‘Male') & (datai['smoker'] == ‘Yes')]['tip'],
label="Male Smokers', alpha=0.5)

ax1.scatter(datal[(datal['sex'] == 'Female') & (datal['smoker'] == ‘Yes')]['total bill'],
datal[(datal['sex'] == ‘Female') & (datal['smoker'] == 'Yes')]['tip'],
label='Female Smokers', alpha=e.s)

ax1.set_xlabel('Total Bill')

axi.set_ylabel('Tip')

axi.set_title('Total Bill and Tip for Smokers')

ax1.legend()

# create scatterplots for male and female customers who are non-smokers

ax2.scatter(datal[(datal[ 'sex'] == 'Male') & (datal['smoker'] == 'No')]['total bill'],
datal[(datal['sex'] == ‘Male') & (datai['smoker'] == ‘No')]['tip'],
label="Male Non-Smokers', alpha=o.5)

ax2.scatter(datal[(datal[ ‘sex'] == 'Female') & (datal['smoker'] == 'No')]['total bill'],
datal[(datal['sex'] == ‘Female') & (datal['smoker'] == 'No')]['tip'],
label='Female Non-Smokers', alpha=e.s)

ax2.set_xlabel('Total Bill')

ax2.set_ylabel('Tip')

ax2.set_title('Total Bill and Tip for Non-Smokers')

ax2.legend()

# display the plot
plt. show()
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In [2]: import pandas as pd
import matplotlib.pyplot as plt
import seaborn as sns

In [29]: # Read Data
data = pd.read_csv(r"c:\Users\JSchnurman\Downloads\tips.csv")
data.head()

out[29]:
Unnamed: 0 total_| tip  sex smoker day time size
0 0 1699 101 Female No Sun Dinner 2
1 11034 166  Male No Sun Dinner 3
2 2 2101 350 Male No Sun Dinner 3
3 3 2368 331 Male No Sun Dinner 2
4 4 2459 361 Female No Sun Dinner 4
In [30]: data.describe()
out[30]:
Unnamed: 0 total_bill tip size

count 244.000000 244.000000 244.000000 244.000000
mean 121500000 19.785943  2.998279  2.569672
std 70580923 8902412  1.383638  0.951100
min 0000000  3.070000  1.000000  1.000000
25% 60750000 13.347500  2.000000  2.000000
50% 121500000 17.795000 ~ 2.900000  2.000000
75% 182250000 24.127500 3562500  3.000000
max 243000000 50.810000  10.000000  6.000000

In [35]: # 1. Delete the Unnamed © column
datal = data.drop(’Unnamed: @', axis=1)
datal.columns

Out[35]: Index(['total bill', 'tip', 'sex', ‘smoker', 'day’', 'time', 'size'l, dtype
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In [39]: # 2.
plt.
plt.
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Frequency

Plot the total_bill column histogram
hist(datal['total bill'], bins=5)
xlabel('Total Bill')
ylabel(*Frequency')

title('Histogram of Total Bill')
show()
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In [42]: # 3. Create a scatter plot presenting the relationship between total_bill and tip
plt.scatter(datal[ ‘total bill'], datai['tip'])
plt.xlabel('Total Bill')
plt.ylabel('Tip')
plt.title('scatter Plot of Total Bill vs Tip')

plt.show()
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In [S8]: # 4. Create one image with the relationship of total_bill, tip and size.
plt.scatter(datal[ ‘total bill'], datal['tip'], s=datal['size']*se, alpha=0.25)

plt.xlabel('Total Bill')
plt.ylabel('Tip')
plt.title('Relationship between Total Bill, Tip and Size')

plt. show()
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